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Question71:-Which of the following, most important quality of a good teacher is
A:-Sound knowledge of subject matter
B:-Good communication skills
C:-Concern for students welfare
D:-Effective leadership qualities
Correct Answer:- Option-A

Question72:-Below is given a list of teaching methods and approaches. Which
among them are individualized approach

i. Demonstration method

ii. Modular approach based teaching

iii. Programmed learning

iv. Personalized teaching

v. Collaborative method

select correct answer from the option given below:
A:-(i), (ii) and (iii)
B:-(ii), (iii) and (iv)
C:-(iii), (iv) and (v)
D:-(i), (iii) and (iv)
Correct Answer:- Option-B



Question73:-What are the main features of Continuous and Comprehensive
Evaluation?

A:-This increases the workload on the students.

B:-It is helpful in reducing the fear of examination
C:-It converts marks into grades

D:-It evaluates each and every aspect of the student
Correct Answer:- Option-D

Question74:-A class of mixed ability learners what will be your strategy for group
division?

A:-Dividing the class into different groups according to their roll numbers

B:-Dividing the class into different groups on the basis of their regularity in
class attendance

C:-Forming different groups with learners of mixed abilities

D:-Forming different groups exclusively with advanced learners and exclusively
with slow learners

Correct Answer:- Option-C

Question75:-To increase the “Critical thinking" ability among students, which of the
following teaching method is most effective?

A:-Lecture cum demonstration method
B:-Inductive - deductive method
C:-Project based teaching learning
D:-Lecture method

Correct Answer:- Option-C

Question76:-Consider the following philosophers
A. C.B Pearce

B. William James

C. Immanuel Kant

D. John Dewey

Which of the above is/are not considered as exponents of Pragmatic philosophy of
Education

A:-C only

B:-B and C

C:-None of the Above

D:-D only

Correct Answer:- Option-A
Question77:-Match correctly the following persons with the theories/concepts
enlisted below :

1. E.L Thorndike a. Learning by insight
2. B.F Skinner b. Drive reduction theory



3. Clark L Hull c. Operant conditioning
4. Kohler d. Law of readiness

A:-1c 2d 3a 4b

B:-1c 2d 3b 4a

C:-1d 2c 3b 4a

D:-1d 2c 3a 4b

Correct Answer:- Option-C
Question78:-Consider the following definitions of Education in Part A and the names
of Philosophers in Part B. Match the definitions with names of Philosophers.

PART A PART B

A. Education is the creation of sound 1. J.F. Herbert
mind in a sound body

B. Education is helping the growing 2. Aurobindo
sould to draw out that is in itself

C. Education is the development of 3. Aristotle
good character

D. Education is the Training for 4. Kautilya
country and Nation
A:-A-4, B-3, C-2, D-1
B:-A-3, B-4, C-1, D-2
C:-A-3, B-2, C-1, D-4
D:-A-3, B-1, C-4, D-2
Correct Answer:- Option-C

Question79:-To teach the topic 'ATM Card, it's usage and operations', which among
the following strategies ensures better learning, considering Edgar Dale's Cone of
experience.

A:-Show the beautiful still Model of an ATM card and explain its usage.

B:-Help the learner to get an original ATM card of his/her own and ask the
learner to operate it in an ATM counter and ensure the operations properly.

C:-Show a YouTube video explaining the ATM card and its working.
D:-Ask the learners to conduct a seminar on the topic 'ATM and its operations'.
Correct Answer:- Option-B

Question80:-This involves the development of the ability to differentiate an OBJECT,
by its COLOUR, SHAPE etc.

Identify the learning type among Gagne's hierarchy of learning.
A:-Verbal association learning



B:-Stimulus response learning
C:-Discrimination learning
D:-Signal learning

Correct Answer:- Option-C

Question81:-Which of the following statements are true about due process of law?
(i) The supreme court of India imported the '""Due process of law' clause in
Kesavananda

Bharati case.
(ii) Due process of law led to liberal interpretation of Art. 21.
(iii) Overruled restrictive judgement of AK Gopalan case.
(iv) It means procedure must also be fair, just and non-arbitrary

A:-i and ii are correct

B:-i only

D:-all are correct

Correct Answer:- Option-C

Question82:-Match the following
(A) 44th Consitutional Amendment Act (i) GST

(B) Art.312 (i) Right to Education
(C) Art.21 A (iii) exclusive power of Rajya Sabha to
constitute

all Indian Services
(D) 101th Constitutional Amendment Act (iv) the word "armed rebellion" was
inserted in

Art.352
A:-A-iv, B-iii, C-ii, D-i
B:-A-iii, B-i, C-ii, D-iv
C:-A-i, B-iv, C-iii, D-ii
D:-A-ii, B-iii, C-1, D-iv
Correct Answer:- Option-A
Question83:-Which of the following embodies the idea of positive discrimination?
A:-Double Jeopardy
B:-Equal protection of laws
C:-Mandamus
D:-Equality before law
Correct Answer:- Option-B

Question84:-Which of the following statements are incorrect about the President of
India?

(i) President of India can be impeached on the ground of unsound mind.

(ii) The President is the Defacto head of the Indian state.

(iii) Constitution empowers the President to grant pardon the death sentence.

(iv) Art. 213 deals with the power of the President to promulgate ordinance.



A:-Only (i) is incorrect

B:-(i), (ii) and (iii) are incorrect
C:-(i), (ii) and (iv) are incorrect
D:-All are incorrect

Correct Answer:- Option-C

Question85:-Two statements are given below-one labelled Assertion [A] and the
other labelled Reasoning [R]. Read the statements carefully and choose the option
that correctly describes statements [A] and [R].

Assertion [A] : Art. 1 states India that is Bharat shall be a union of states.
Reasoning [R] : The federation of India is not the result of an agreement and is
indestructible.

A:-Both [A] and [R] are true and [R] is the correct explanation of [A]
B:-Both [A] and [R] are true and [R] is not the correct explanation of [A]
C:-[A] is true but [R] is false

D:-[A] is false but [R] is true

Correct Answer:- Option-A

Question86:-Two statements are given below-one labelled Assertion [A] and the
other labelled Reasoning [R]. Read the statements carefully and choose the option
that correctly describes statements [A] and [R].
Assertion [A] : Art.15 (6) and Art.16 (6) were added by 102nd Amendment Act,
2018 to

bring 10% reservation for EWS.
Reasoning [R] : The Supreme Court of India upheld the constitutional validity of
reservation

for EWS.

A:-Both [A] and [R] are true and [R] is the correct explanation of [A]
B:-Both [A] and [R] are true and [R] is not the correct explanation of [A]
C:-[A] is true but [R] is false

D:-[A] is false but [R] is true

Correct Answer:- Option-D

Question87:-Which of the following statements are true about emergency provision
regarding the constitution of India?
(i) Art. 20 and 21 is suspended during emergency
(ii) Art. 19 is automatically suspended when emergency is proclaimed on the
ground of

armed rebellion.
(iii) Art. 19 is automatically suspended when emergency is proclaimed on the
ground of war

or external aggression.
(iv) Part XVIII of the constitution of India deals with emergency provisions.

A:-(i), (ii) and (iii) are true
B:-(iii) and (iv) are true
C:-All are true



D:-(i) and (ii) are true
Correct Answer:- Option-B

Question88:-Which of the following programmes are meant for housing?
(i) LIFE
(ii) PMAY
(iii) MWS
(iv) 1AY
A:-All of the above
B:-(i), (ii) and (iv)
C:-(i), (ii) and (iii)
D:-(ii), (iii) and (iv)
Correct Answer:- Option-A

Question89:-Which of the following are the correct features of National Food
Security Act, 20137

(i) The approach to food security is shifted from welfare to rights based approach.
(ii) 50% of the rural population and 50% of the urban population is legally entitled
to receive

subsidized food grains under Targeted PDS.

(iii) The eldest woman of the household who is 18 years or above is mandated to
be the head

of the household for the purpose of issuing ration cards under the Act.

(iv) Food Security Act legally acknowledges right to food as the fundamental right
to life.

A:-All of the above

B:-(i), (iii) and (iv)

C:-(ii) and (iii)

D:-None of the above
Correct Answer:- Option-B

Question90:-Which of the following statements are true about Rights of Persons
with Disabilities Act, 20167
(i) The types of disabilities have been increased from 7 to 21
(ii) Acid attack victims are included under this Act.
(iii) 4% and 5% reservation is provided to differently abled in government jobs and
higher

educational institutions respectively.
(iv) The Chief Commissioner for Persons with Disabilities and State commissioners
act as

grievance redressal agencies.

A:-(i), (iii) and (iv)

B:-All of the above

C:-(i) and (iii)

D:-(iii) and (iv)

Correct Answer:- Option-B



Question91:-Which of the following statement is/are correct about Press?
(i) The press was mainly responsible for the high literacy of Kerala.
(ii) The press helped the growth of Nationalist movement and the struggle for
responsible

Government in the princely states of Travancore and Cochin.
(iii) The Newspaper Act of 1908 placed restrictions and controls on the press.
(iv) 'Prabhatham' was the organ of the Congress Socialist party.

A:-Only (i), (i) and (iii)

B:-Only (i) and (ii)

C:-All the above (i), (ii), (iii) and (iv)
D:-Only (ii), (iii), (iv)

Correct Answer:- Option-C

Question92:-Which of the following are true about Civil Disobedience movement of
Kerala?
(i) During the Civil Disobedience Movement hundreds of people from all over
Malabar took
part in the struggle.
(ii) At that time the British Government declared the Congress to be an unlawful
organization.
(iii) A significant event of the period was the mass arrest of the delegates who
attended the
Conference held at Cochin.
(iv) During that time every Saturday was observed as flag day.

A:-Only (i), (ii) and (iii)

B:-Only (i) and (ii)

C:-Only (ii), (iii) and (iv)

D:-Only (i) and (iii)

Correct Answer:- Option-B
Question93:-Match the following

A. Sadhujana Paripalan Sangam 1. Sankaran Nampoothiripad

B. Islam Dharma Paripalana Sangham 2. Pandit Karuppan

C. Yogakshema Sabha 3. Ayyakali

D. Vaala Samudaya parishkarani Sabha 4. Vakkom Abdul Khadar Moulavi

A:-A-2, B-4, C-1, D-3,
B:-A-3, B-4, C-2, D-1
C:-A-3, B-4, C-2, D-1
D:-A-3, B-4, C-1, D-2
Correct Answer:- Option-D

Question94:-Which of the following statement is/are correct about Vakkom Abdul
Khadar Moulavi?

(i) Vakkom Abdul Khadar Moulavi was born on December 28,1873

(ii) Vakkom Abdul Khadar Moulavi started the journal the Muslim in 1906.

(iii) Vakkom Abdul Khadar Moulavi started the journal Al-Islam in 1918.

(iv) Vakkom Abdul Khadar Moulavi started the journal Deepika in 1931.



A:-Only (i), (ii), (iii)

B:-Only (i), (ii)

C:-Only (ii), (iii), (iv)

D:-All the above (i), (ii), (iii), (iv)
Correct Answer:- Option-D

Question95:-Particulars on Women an
Match the following:

(A) Kuttimalu Amma -
(B) Akkamma Cheriyan -
(C) Parvathi Nenmenimangalam

(D) Lalithambika Antharjanam -

A:-(A)-(1), (B)-(2), (C)-(4), (D)-(5)
B:-(A)-(2), (B)-(4), (C)-(3), (D)-(1)
C:-(A)-(2), (B)-(4), (C)-(1), (D)-(3)
D:-(A)-(3), (B)-(4), (C)-(2), (D)-(1)
Correct Answer:- Option-C

Question96:-Particulars on awakening
Match the following:

d Social change

(1)

(2)
(3)
(4)

Boycott of Cadjan Umbrella

Procession in Calicut
Sahitya Akademi Award
Member of the Legislature

through Drama

(A) Adukkalayil Ninnu Arangathekku - (1) K. Damodaran

(B) Marakkudakkullile Mahanarakam - (2) V.T. Bhattathiripad
(C) Rithumathi - (3) M.R. Bhattathiripad
(D) Pattabakki - (4) M.P. Bhattathiripad

A:-(A)-(2), (B)-(3), (C)-(4), (D)-(1)
B:-(A)-(3), (B)-(4), (C)-(2), (D)-(1)
C:-(A)-(1), (B)-(3), (C)-(4), (D)-(2)
D:-(A)-(4), (B)-(2), (C)-(1), (D)-(3)
Correct Answer:- Option-A

Question97:-Particulars on Struggles and Social Revolts

Year of the Event

(A) Guruvayoor Sathyagraha - (1) 1813
(B) Temple Entry Proclamation - (2) 1931
(C) Channar Agitation - (3) 1891
(D) Malayalee Memorial - (4) 1936
A:-(A)-(2), (B)-(1), (C)-(4), (D)-(3)
B:-(A)-(3), (B)-(2), (C)-(1), (D)-(4)
C:-(A)-(3), (B)-(1), (C)-(4), (D)-(2)
D:-(A)-(2), (B)-(4), (C)-(1), (D)-(3)
Correct Answer:- Option-D
Question98:-Match the following:
(A) Trivandrum Public Library - (1) Dr. Gundert
(B) Rajya Samacharam - (2) Col. Edward Cadogan
(C) Tirunal Prabandha - (3) Kunhikuttan Thampuran



(D) Dasakumara Charita - (4) Kerala Varma Valia Koil Thampuran
A:-(A)-(2), (B)-(3), (C)-(4), (D)-(1)
B:-(A)-(3), (B)-(2), (C)-(1), (D)-(4)
C:-(A)-(2), (B)-(1), (C)-(4), (D)-(3)
D:-(A)-(4), (B)-(3), (C)-(2), (D)-(1)
Correct Answer:- Option-C

Question99:-Particulars on leaders of Renaissance
Match the following:

(A) T.K. Madhavan - (1) Volunteer Corps Leader
(B) Mannathu Padmanabhan - (2) Mithavadi

(C) Krishnan - (3) Savarna)atha

(D) A.K. Gopalan - (4) Coconada Congress

A:-(A)-(1), (B)-(2), (C)-(3), (D)-(4)
B:-(A)-(3), (B)-(4), (C)-(2), (D)-(1)
C:-(A)-(3), (B)-(4), (C)-(1), (D)-(2)
D:-(A)-(4), (B)-(3), (C)-(2), (D)-(1)
Correct Answer:- Option-D

Question100:-Match the following:

(A) Dr. Palpu - (1) 1847
(B) Makthi Thangal - (2) 1863
(C) T.K.Madhavan - (3) 1896
(D)  Kuroor Neelakandan Namboothiripadu - (4) 1885

A:-(A)-(2), (B)-(3), (C)-(4), (D)-(1)
B:-(A)-(2), (B)-(1), (C)-(4), (D)-(3)
C:-(A)-(4), (B)-(3), (C)-(2), (D)-(1)
D:-(A)-(3), (B)-(4), (C)-(1), (D)-(2)
Correct Answer:- Option-B



